Fibroblasts

Day 0
d
Number of families 1
Number of comparisons per family|6
Alpha 0.05
Tukey's multiple comparisons test{Mean Diff.  |95.00% CI of diff. Significant? |Summary  |Adjusted P Value
Control vs_ 10 pg/mL 0.5571 0.4728 to 0.6415 Yes i <0.0001 AB
Control vs_ 50 pg/mL 0.6973 0.613 to 0.7817 Yes b <(.0001 AL
Control vs. 100 pg/mL 0.8421 0.7578 to 0.9265 Yes i =0.0001 A-D
10 pg/mL vs. 50 pg/mL 0.1402 0.05587 to 0.2246  |Yes - 0.0005 B-C
10 pg/mL vs. 100 pg/mL 0.285 0.2006 to 0.3694 Yes i =0.0001 B-D
50 pg/mL vs. 100 pg/mL 0.1448 0.06043 to 0.2291 Yes b 0.0003 C-D
Test details Mean 1 Mean 2 Mean Diff. SE of diff. n1 n2 q DF
Control vs. 10 pg/mL 0.9756 0.4184 0.5571 0.03113 9 9 253 32
Control vs. 50 pg/mL 0.9756 0.2782 0.6973 0.03113 9 9 31.68 32
Control vs_ 100 pg/mL 0.9756 01334 0.8421 0.03113 9 9 38.25 32
10 pg/mL vs. 50 pg/mL 0.4184 0.2782 0.1402 0.03113 9 9 6.37 32
10 pg/mL vs. 100 pg/mL 0.4184 0.1334 0.285 0.03113 9 9 12.95 32
50 pg/mL vs. 100 pg/mL 0.2782 0.1334 0.1448 0.03113 9 9 6.577 32
Day 1
1 [Number of families 1
2 |Number of comparisons per family|6
3 |Alpha 0.05
4
5 [Tukey's multiple comparisons test{Mean Diff. ~ |95.00% CI of diff. Significant?  |Summary  |Adjusted P Value
6
o | T | control vs. 10 0.4507 0.3684 to 0.5329 Yes - =0.0001 AB
& | controlvs. 50 0.6706 0.5883 to 0.7528 Yes b =0.0001 AL
9 | control vs. 100 pg/mL 0.8659 0.7836 to 0.9482 Yes b =0.0001 AD
10 | 10vs. 50 0.219%9 0.1376 to 0.3022 Yes i =0.0001 B-C
11 | 10vs. 100 pg/mL 0.4152 0.3329 to 0.4975 Yes b =0.0001 B-D
12 | 50vs. 100 pg/mL 0.1953 0.1131 to 0.2776 Yes i =0.0001 Cc-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff. SE of diff.  |n1 n2 q DF
16
17 | control vs. 10 1.008 0.5576 0.4507 0.03037 9 9 20.99 32
18 | control vs. 50 1.008 0.3377 0.6706 0.03037 9 9 31.23 32
19 | control vs. 100 pg/mL 1.008 0.1423 0.8659 0.03037 9 9 40.33 32
20 | 10vs. 50 0.5576 0.3377 0.2199 0.03037 9 9 10.24 32
|| 21 | 10vs. 100 pg/mL 0.5576 0.1423 0.4152 0.03037 9 9 19.34 32
22 | 50vs. 100 pg/mL 0.3377 0.1423 0.1953 0.03037 9 9 9.087 32
[z




W)

Q
<

w

4

1 |Number of families 1

2 |Number of comparisons per family|6

3 |Alpha 0.05

4

5 [Tukey's multiple comparisons test|Mean Diff.  |95.00% Cl of diff. Significant?  |Summary  |Adjusted P Value

6

7 | controlvs. 10 0.1983 0.08309to 0.3136  |Yes - 0.0003 A-B

8 | controlvs. 50 0.5269 04116 to 0.6421 Yes - =0.0001 AC

9 | control vs. 100 pg/mL 0.9864 0.8712to 1.102 Yes - =0.0001 AD

10 | 10vs. 50 0.3286 0.2133 to 0.4438 Yes i «0.0001 B-C

11 | 10vs. 100 pg/mL 0.7881 0.6729 to 0.9034 Yes i «0.0001 B-D

12 | 50vs. 100 pg/mL 0.4596 0.3443 to 0.5748 Yes i «0.0001 cD

13

14

15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |n1 n2 q DF
16

17 | control vs. 10 1.244 1.046 0.1983 0.04254 9 9 6.594 32
18 | control vs. 50 1.244 0.7176 0.5269 0.04254 9 9 17.52 32
19 | control vs. 100 pg/mL 1.244 0.258 0.9864 0.04254 9 9 328 32
20 | 10vs. 50 1.046 0.7176 0.3286 0.04254 9 9 10.92 32
21 | 10vs. 100 pg/mL 1.046 0.258 0.7881 0.04254 9 9 26.2 32
22 | B0vs. 100 pg/mL 0.7176 0.258 0.4596 0.04254 9 9 15.28 32
23
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Day 7
_d

1 [Number of families 1

2 |Number of comparisons per family|6

3 |Alpha 0.05

4

5 |Tukey's multiple comparisons test|Mean Diff.  |95.00% Cl of diff. Significant? |Summary  |Adjusted P Value

6

7 | Control vs. 10 pg/mL 02281 -0.6335t0 1.09 Mo ns 0.8895 A-B

& | Control vs. 50 0.372 -0.4896 to 1.234 No ns 0.6498 AC

9 Control vs_ 100 pg/mL 1.666 0.8043 to 2.527 Yes i <0.0001 A-D

10 | 10 pg/mL vs. 50 0.1439 -0.7177 to 1.005 No ns 0.9687 B-C
13 Fibroblastos }_vs_ 100 pg/mL 1.438 0.5762 to 2.299 Yes b 0.0004 B-D

12 | 50vs. 100 pg/mL 1.294 04323 to 2.155 Yes = 0.0016 cD

13

14

15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |nd n2 q DF
16

17 | Control vs. 10 pg/mL 3.576 3.348 0.2281 0.318 9 9 1.014 32
18 | Control vs. 50 3.576 3.204 0.372 0.318 9 9 1.654 32
19 | Control vs. 100 pg/mL 3.576 1.91 1.666 0.318 9 9 7.408 32
20 | 10 pg/mLvs. 50 3.348 3.204 0.1439 0.318 9 9 0.6399 32
21 | 10 pg/mL vs. 100 pg/mL 3.348 1.91 1.438 0.318 9 9 6.394 32
22 | 50vs. 100 pg/mlL 3.204 1.91 1.294 0.318 9 9 5754 32
23




TC-71 cells

Day 0
| 4|
1 [Number of families 1
2 |Number of comparisans per family| 6
3 |Alpha 0.05
4
5 |Tukey's multiple comparisons test|Mean Diff. ~ |95.00% Cl of diff. Significant? |Summary  |Adjusted P Value
]
T | controlvs. 10 0.03156 -0.05313t0 01162 |No ns 0.7450 AB
8 | controlvs. 50 0.1559 0.07121t0 0.2406  |Yes b 0.0001 AC
9 | control vs. 100 pg/mL 0.2289 0.1442 to 0.3136 Yes i <0.0001 A-D
10 | 10vs. 50 0.1243 0.03965 to 0.209 Yes = 0.0020 B-C
11 | 10vs. 100 pg/mL 0.1973 0.1127 to 0.282 Yes i =0.0001 B-D
12 | 50vs. 100 pg/mL 0.073 -0.01168 to 01577 |No ns 0111 c-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |n1 n2 q DF
16
17 | control vs. 10 0.4054 0.3739 0.03156 0.03126 9 9 1.428 32
18 | control vs. 50 0.4054 0.2496 0.1559 0.03126 9 9 7.053 32
19 | control vs. 100 pg/mL 0.4054 0.1766 0.2289 0.03126 9 9 10.36 32
20 | 10vs. 50 0.3739 0.2496 0.1243 0.03126 9 9 5.626 32
21 | 10vs. 100 pg/mlL 0.3739 0.1766 0.1973 0.03126 9 9 8.929 32
22 | 50vs. 100 pg/mL 0.2496 0.1766 0.073 0.03126 9 9 3.303 32
n
Day 1
1 |Number of families 1
2 |Number of comparisons per family|6
3 |Alpha 0.05
4
5 |Tukey's multiple comparisons test|Mean Diff.  |95.00% CI of diff Significant? |Summary  |Adjusted P Value
[
7 | control vs. 10 0.043 -0.09032 to 01763 |No ns 0.8183 A-B
8 | control vs. 50 0.296 0.1627 to 0.4293 Yes i =0.0001 A-C
9 | control vs. 100 pg/mlL 0.4709 0.3376 to 0.6042 Yes i <(.0001 A-D
10 | 10vs. 50 0.253 0.1197 to 0.3863 Yes - =0.0001 B-C
11 | 10vs. 100 pg/mL 0.4279 0.2946 to 0.5612 Yes i <0.0001 B-D
12 | 50vs. 100 pg/mL 01749 0.04157 to 0.3082 Yes = 0.0063 c-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff SE of dif.  [n1 n2 q DF
16
17 | control vs. 10 0.6599 0.6169 0.043 0.04921 9 9 1.236 32
18 | control vs. 50 0.6599 0.3639 0.296 0.04921 9 9 8.507 32
19 | control vs. 100 pg/mL 0.6599 0.189 0.4709 0.04921 9 9 13.53 32
20 | 10vs. 50 0.6169 0.3639 0.253 0.04921 9 9 7.271 32
21 | 10wvs. 100 pg/mL 0.6169 0.189 0.4279 0.04921 9 9 12.3 32
22 | 50vs. 100 pg/mL 0.3639 0.189 0.1749 0.04921 9 9 5.026 32
23




Day 3

A

1 |Number of families 1

2 |Mumber of comparisons per family| 6

3 |Alpha 0.05

4

5 |Tukey's multiple comparisons test|Mean Diff.  [95.00% Cl of diff Significant? |Summary  |Adjusted P Value

6

7 | controlvs. 10 -0.0716 -0.2934 to 0.1502 Mo ns 0.6204 A-B

8 | controlvs. 50 0.8784 (0.6566 to 1.1 Yes = <0.0001 A-C

9 | contralvs. 100 pg/mlL 1.417 1.195 to 1.639 Yes i <0.0001 AD

10 | 10vs. 50 0.95 0.7282 to 1.172 Yes i <0.0001 B-C

11 | 10vs. 100 pg/mL 1.489 1.267 to 1.71 Yes i <0.0001 B-D

12 | 50vs. 100 pg/mlL 0.5385 0.3167 to 0.7603 Yes e <0.0001 Cc-D

13

14

15 |Test details Mean 1 Mean 2 Mean Diff SE of dif.  |n1 n2 q DF
16

17 | control vs. 10 1.62 1.591 -0.0716 0.08234 10 10 1.23 36
18 | control vs. 50 1.62 0.6413 0.8784 0.08234 10 10 15.09 36
19 | control vs. 100 pg/mL 1.62 0.1028 1417 0.08234 10 10 24.34 36
20 | 10vs. 50 1.591 0.6413 0.95 0.08234 10 10 16.32 36
21 | 10 vs. 100 pg/mL 1.591 0.1028 1.489 0.08234 10 10 2557 36
22 | 50vs. 100 pg/mL 0.6413 0.1028 0.5385 0.08234 10 10 9.249 36
23

Day 7
gﬁ 1|_vay ANIJ\_P'A

Multiple comparizons
4

1 [Number of families 1

2 |Mumber of comparisons per family|6

3 |Alpha 0.05

F

5 |Tukey's multiple comparisans test|Mean Diff.  |95.00% Cl of diff. Significant? |Summary  |Adjusted P Value

6

7 | control vs. 10 -0.7913 -1.454 to -0.1289 Yes * 0.0142 A-B

8 | control vs. 50 -0.9511 -1.614 to -0.2887 Yes = 0.0026 A-C

9 | control vs. 100 pg/mL 1.474 0.8112t0 2.136 Yes i =0.0001 AD

10 | 10vs 50 -0.1598 -0.8222 to 0.5027 No ns 0.9136 B-C

11 | 10vs. 100 pg/mL 2.265 1.603 to 2.927 Yes i <0.0001 B-D

12 | 50vs. 100 pg/mL 2425 1.762 to 3.087 Yes b <0.0001 Cc-D

13

14

15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |nd n2 q DF
16

17 | controlvs. 10 1.822 2.613 -0.7913 0.2445 9 9 4577 32
18 | control vs. 50 1.822 2773 -0.9511 0.2445 9 9 5.501 32
19 | control vs. 100 pg/mL 1.822 0.348 1474 0.2445 9 9 B.524 32
20 | 10vs. 50 2.613 2773 -0.1598 0.2445 9 9 0.9241 32
21 | 10vs. 100 pg/mL 2.613 0.348 2265 0.2445 9 9 131 32
22 | 50vs. 100 pg/mL 2773 0.348 2425 0.2445 9 9 14.02 32
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Day 0
gﬂ 1|_ua_v AND\!’A
Multiple comparizons
_d
1 |Number of families 1
2 |Number of comparisons per family|6
3 |Alpha 0.05
4
5 |Tukey's multiple comparisons test|{Mean Diff.  |95.00% Cl of diff. Significant? |Summary  |Adjusted P Value
6
7 | controlvs. 10 0.1812 0.06395 to 0.2984  |Yes b 0.0009 A-B
8 | controlvs. 50 0.6313 0.5141 to 0.7486 Yes i =0.0001 A-C
9 | control vs. 100 pg/mL 0.9446 0.8274 to 1.062 Yes b <0.0001 AD
10 | 10vs. 50 0.4502 0.3329 to 0.5674 Yes i =0.0001 B-C
11 | 10vs. 100 pg/mL 0.7634 0.6462 to 0.8806 Yes i =0.0001 B-D
12 | 50vs. 100 pg/mL 0.3133 0.196 to 0.4305 Yes e =0.0001 C-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |n1 n2 q DF
16
17 | control vs. 10 1.054 0.8726 0.1812 0.0439 12 12 5.836 44
18 | control vs. 50 1.054 0.4224 0.6313 0.0439 12 12 20.34 44
19 | control vs. 100 pg/mL 1.054 0.1092 0.9446 0.0439 12 12 3043 44
20 | 10vs. 50 0.8726 0.4224 0.4502 0.0439 12 12 145 44
21 | 10vs. 100 pg/mL 0.8726 0.1092 0.7634 0.0439 12 12 24.59 44
22 | 50vs. 100 pg/mL 0.4224 0.1092 0.3133 0.0439 12 12 10.09 44
23
Day 1
I%E 1|.ua_v AND\!"A
Multiple comparizans
4
1 |Mumber of families 1
2 |Number of comparisans per family|6
3 |Alpha 0.05
4
5 [Tukey's multiple comparisons test|Mean Diff.  |95.00% Cl of diff Significant? |Summary  |Adjusted P Value
6
T | controlvs. 10 0.3568 0.2243 to 0.4892 Yes e =0.0001 A-B
8 | control vs. 50 1.135 1.003 to 1.267 Yes b <0.0001 A-C
9 | control vs. 100 pg/mL 1.612 1.48 to 1.745 Yes b <(.0001 A-D
10| 10vs. 50 0.7783 0.6458 to 0.9107 Yes i =0.0001 B-C
11| 10 vs. 100 pg/mL 1.255 1.123 to 1.388 Yes i =0.0001 B-D
12 | 50vs. 100 pg/mL 0.4772 0.3447 to 0.6097 Yes e =0.0001 C-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |n1 n2 q DF
16
IT | controlvs. 10 1.695 1.339 0.3568 0.04962 12 12 1017 44
18 | control vs. 50 1.695 0.5604 1135 0.04962 12 12 32.35 44
19 | control vs. 100 pg/mL 1.695 0.08325 1.612 0.04962 12 12 4595 44
0 | 10vs 50 1.339 0.5604 0.7783 0.04962 12 12 2218 44
"M | 10vs. 100 pg/mL 1.339 0.08325 1.255 0.04962 12 12 35.78 44
2 | 50vs. 100 pg/mL 0.5604 0.08325 04772 0.04962 12 12 13.6 44
L]




Day 3

i

1Tray MU Ta

ultiple comparizons

4

MNumber of families 1
Mumber of comparisons per family| 6
Alpha 0.05
Tukey's multiple comparisons test|Mean Diff.  |95.00% CI of diff. Significant? |Summary |Adjusted P Value
contral vs. 10 0.7423 0.3172 to 1.167 Yes i 0.0002 AB
control vs. 50 1.22 0.7949 to 1.645 Yes i «0.0001 A-C
contral vs. 100 pg/mL 2434 2.009 to 2.859 Yes i «0.0001 AD
Y | 10vs. 80 04777 0.05258 to 0.9028  |Yes * 0.0222 B-C
1| 10vs. 100 pg/mL 1.692 1.267 to 2117 Yes e =0.0001 B-D
2| 50vs 100 pg/ml 1.214 0.7892 to 1.639 Yes o =0.0001 C-D
3
1
) |Test details Mean 1 Mean 2 Mean Diff. SE of diff. ni n2 q DF
3
T | controlvs. 10 2501 1.759 0.7423 0.1592 12 12 6.594 44
3 | controlvs. 50 2501 1.281 1.22 0.1592 12 12 10.84 44
¥ | controlvs. 100 pg/mL 2501 0.06667 2434 0.1592 12 12 21.62 44
)| 10vs. 80 1.759 1.281 04777 0.1592 12 12 4.243 44
1| 10vs. 100 pg/mL 1.759 0.06667 1.692 0.1592 12 12 15.03 44
2| 50vs. 100 pg/mL 1.281 0.06667 1.214 0.1592 12 12 10.79 44
)
Day 7
A
1 [Number of families 1
2 |Number of comparisons per family|6
3 |Alpha 0.05
4
5 [Tukey's multiple comparisons test|Mean Diff  |95.00% Cl of diff Significant? |Summary  |Adjusted P Value
6
7 | Controlvs. 10 0.1867 -0.2651 to 0.6385 No ns 0.6895 AB
& | Controlvs. 50 0.7609 0.3091t0 1.213 Yes i 0.0003 A-C
9 | Control vs. 100 pg/mlL 3.245 2.793 to 3.696 Yes hi =0.0001 AD
10 | 10vs. 60 0.5743 0.1224 to 1.026 Yes = 0.0077 B-C
11 | 10ws. 100 pg/mL 3.058 2606 to 3.51 Yes i <0.0001 B-D
12 | 50wvs. 100 pg/mL 2484 2.032to 2.936 Yes b <0.0001 C-D
13
14
15 |Test details Mean 1 Mean 2 Mean Diff. SE of dif.  |n1 n2 q DF
16
17 | Control vs. 10 3.392 3.206 0.1867 0.1692 12 12 1.56 44
18 | Control vs. 50 3.392 2631 0.7609 0.1692 12 12 6.359 44
19 | Control vs. 100 pg/mL 3.392 01477 3.245 0.1692 12 12 2712 44
20 | 10vs. &0 3.206 2,631 0.5743 0.1692 12 12 4.799 44
21 | 10vs. 100 pg/mlL 3.206 01477 3.068 0.1692 12 12 2556 44
22 | 50vs. 100 pg/mlL 2,631 01477 2484 0.1692 12 12 20.76 44
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